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Guess Paper – 2010

Class – X

Subject – Mathematics                                                                             
General instructions:

(i)   All questions are compulsory.

(ii)  This question paper consists of 30 questions divided into four sections A, B, C and 

        D. Section A comprises of ten questions of one mark each, Section B comprises of 

        five questions of two marks each., Section C comprises of ten questions of three 

        marks each, and section D comprises of five questions of six marks each. 

(iii)  All questions in section A are to be answered in one word, one sentence or as per the 

        exact requirement of the questions.

(iv)  There is no overall choice. However, internal choice has been provided in one 

        question of two marks each, three questions of three marks each and two questions 

        of  six marks each. You have to attempt only one of the alternatives in all such 

        questions.

(v)   In question on construction, drawings should be neat and exactly as per the given 

        measurements.

(vi)   Use of calculators is not permitted. 
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1.  Multiplication of two irrational numbers is always irrational. Is it true? Why?

2.  For what value of k, will the equations 8x+5y=9 and kx+10y=8 have no solution?

3.  For what value of p, the numbers 3p+2, 4p+3 and 6p-1 are AP?

4.  Determine the value of k for which the quadratic equation 2kx2+6x+5=0 has equal 

     roots.

5.  If  
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6.  Two dice are thrown simultaneously. What is the probability of getting an even 

      number as the sum.


7.  Write the formula for finding the median for grouped data.                    A                      B

8.  The adjoining figure is a sector of a

     Circle of radius 10.5 cm. Find the perimeter of the sector.
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9.  What is the length of tangent drawn from a point whose distance from            O            

      the  centre of a circle is 20 cm and radius of circle is 16 cm?
 

10. The perimeters of two similar triangles ABC and PQR are respectively 36 cm and

       24 cm. If PQ=10 cm, find AB.
SECTION B

11. Find a quadratic polynomial, sum and product of whose zeroes are 
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 and 
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      respectively.

(or)

      Find the zeroes of 2x2 - 3 = 0 and verify the  relationship between the zeroes and 

      co-efficients.

12. What point on the x-axis is equidistant from (7, 6) and (-3,  4)

13. Evaluate: 
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14. A card is drawn at random from a well shuffled deck of cards. Find probability that 

      the card is       (a) a king or a jack

                              (b) a non ace
A

                              (c) neither a king nor a queen                                         

15. In the figure, DE||BC. If AD=2.4 cm                                                                      

      DB=3.6 cm and AC=5 cm. Find AE.                                                    D                     E
                                                                                                               B                                     C

SECTION C

16. Prove that 
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  is an irrational number

(or)

      Show that any odd positive integer is of the form 6q+1, 6q+3 or 6q+5, where q is 

      some integer.

17. Find all zeroes of 
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 if it is known that its two zeroes are 

     
[image: image9.wmf]2

  and   - 
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18. How many multiples of 4 lie between 10 and 250?

(or)

      Find the sum of all two digit natural numbers, which are divisible by 3.

19. In a flight of 2800 km, an aircraft was slowed down due to bad weather. Its average 

      speed was reduced by 100 km/h and time of flight increased by 30 minutes. Find the 

      original duration of the flight.

20. In what ratio does the point 
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 divide the line segment joining the points 
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21. Prove that the points 
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  are the vertices of a right isosceles 

      triangle.

22. Prove that           
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(or)

      If 
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23. Construct a triangle similar to a given 
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  such that each of its sides is 
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      the corresponding sides of   
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. It is given that AB=6 cm, 
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                                                                                                                  A                               B

24. In the figure, a quadrilateral ABCD circumscribes
                              


      the circle. Prove that AB + CD = AD + BC


P                               R


                                                                                                                  D                                C 

                                                                                                                                   Q
25. PQRS is a square land of side 28 m.                                         S                                   R

     Two semicircular grass covered portions

      are to be made on two of its opposite sides 


      as shown in the figure. How much area will


      be left uncovered?

                                                                                                  P                                  Q

SECTION D

26. Solve graphically the pair of linear equations:
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      Find the area of the region bounded by these lines and x-axis.

27. “The ratio of areas of two similar triangles is equal to the ratio of squares of any two  

        corresponding sides”. Prove it. Using it solve.

        In 
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, PQ is a line segment intersecting AB at P and AC at Q such that PQ||BC 

        and PQ divides 
[image: image26.wmf]ABC

D

 into two parts equal in area. Find 
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28. From the top of a 7 m high building the angle of elevation of the top of a cable tower 

      is 
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 and the angle of depression of its foot is 
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. Find the height of the tower.

(or)

   The angle of elevation of an aeroplane from a  point on the ground is 
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      flight of 15 seconds, the elevation changes to 
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. If the aeroplane is flying at a 

      constant height of  3000 m , find the speed of the aeroplane.

29. A solid is in the form of a right circular cylinder with hemisphere at one end and a 

      cone at the other end, their common diameter is  3. 5  cm and height of cylindrical and 

      conical portions are respectively 10 cm and 6 cm. Find the volume of solid  

      (
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(or)

     An open metal bucket is in the shape of a frustum of a cone, mounted on a hollow 

     Cylindrical base made of the same metallic sheet. The diameters of the two circular 

     ends of the bucket are 45 cm and 25 cm, the total vertical height of the bucket is 40 

     cm and that of the cylindrical base is 6 cm. Find the area of the metallic sheet used to 

     make the bucket, where we do not take into account the handle of the bucket. Also, 

     find the volume of water the bucket can hold (take 
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30. Find the missing frequencies in the following distribution. It is given that median of 

      the distribution is 41.

	Class
	10-20
	20-30
	30-40
	40-50
	50-60
	60-70
	Total

	Frequency
	10
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	15
	20
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